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ol Question ID : 1860451986
n =
" 1. JTharkhand Status : Answered
;( 2. Odisha Chosen Option : 1
& 3. Madhya Pradesh
X 4. Chhattisgarh
Q.2 Natioual Rail and Tauspon hsilats. Lida®s Lol aisvay aniversily s byenopsaed lnwhick of ke follewicgs sttes?
s Question ID : 1860451992
x 1. Telangana Status : Answered
x 2. Rihar Chosen Option : 3
W 3 Gujarat
& 4 Uttar Pradesh
Q.3 faT rTF O (2018) T T 74 T YewSEEnE = AR e Gaew ¥ eTa B T
EC R & o] Question ID : 1860451993
Ans x 1 - Status : Answered
_ 4231’ Chaosen Option : 3
X 2 72ar
A
v 3 g2ar
X 4 52Ff
Q.4 TP i fFes 2012 # ¥AWET vs TEW A, W T=woied woaw2 yfiee R afEr &
FC qYE TN W TETETNE () ¥ T TS = TR g2 o 52 Question ID : 1860451989
Ans Status : Answered
1. m— m
X T Chosen Option : 3
S G |
X 3 v
X 4 9Rgm T
Q.5 " itreth g o
of the Censtituition of India deals with Question ID : 1860451997
Ans Status : Answered
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X 1. Article 40, fundamental duties Chosen Option :3
X 2. Article 45, uniform civil code
v 3
Atrticle 40, organisation of village panchayats
X 4. Article 48A, uniform civil code
Q.6 17hi ' B . - 1 L ie )
Which state is the largest producer of wind energy in India® Question ID : 1860451987
Ans o 1 Tamil Nadu Status : Answered
: Chosen Option : 4
X 2. Maharashtra
X 3. Gujarat
X 4. Rajasthan
.7 Inwhich state has the Governwent of India launched the first Tribal Circuit Project under the Swadesh Darshan
Scheme? Question ID : 1860451990
Ans X 1. JTharkhand Status : Answered
Chosen Option : 3
X 2. Madhya Pradesh -
«' 3. Chhattisgarh
X 4. Bibar
Q.8 The ray that comes back from a surface after the reflection is known as .
Question ID : 1860451995
Ans 1. areflected ray Status : Answered
x 2. an x-rav Chosen Option : 1
. b 3
X 3. an incident ray
X 4. an alpha ray
Q9 Whi i Cap T b q i . 3 o
Which Indian boxer won a Geld Medal in Asian Games 2618° Question ID : 1860451991
Ans X 1. Manej Kumar Status : Answered
. Chosen Option : 2
« 2. Amit Panghal
X 3. Gaurav Solanki
X 4. Shiva Thapa
Q.10 xrhi F T i
Which of the following is correct? Question ID : 1860451988
Ans { 1. Status : Answered
Sucheta Kriplani was the first woman Chief Minister of Uttar Pradesh. Chosen Option : 1
X 2.
Vandini Satpathy was the first woman Chief Minister of Uttar Pradesh.
X 3
Shashikala Kakodkar was the first woman Chief Minister of Uttar Pradesh.
X4
Janaki Ramachandran was the first woman Chief Minister of Uttar Pradesh.
Q.11 77 79 & s o2 A loF@ R T2 A ¢, A FTHF ZaRT ToF A& A WROE 79 J FA FF A1
7 Question ID : 1860451994
Ans l 1. TATeHS Status : Answered
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X2 EIR:ES Chosen Option : 1
X3 gT=
X 4. V;n?fféa
Q_1 2 Afier full neon day, the size of‘ the bright pant qf the moon appears to become thinner and thinner every night. On the
fifteenth day. the moon is net visible. This day is known as the: Question ID : 1860451996
Ans 1. New moon day Status : Answered
Chosen Option : 1
X 2. Moon day
X 3. Full moon day
X 4. Half-moon day
Section : Logical Reasoning
Q.1 & 7 3w AT # T A TS e WAR F S 7 ¥ @ F, AW ¥ I aEen # ot
o Question ID : 1860451999
_qr_rp_pgp_r_rp Status : Answered
Ans X 1. pPqqir Chosen Option : 2
« 2. pQraq
X 3. qqqrr
X 4. 9ppaPp
Q.2
Question ID : 1860452009
Status : Answered
Chosen Option : 4
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& sfafsq ag-rdw et F oF fAfea v w gl & v
AR drad s &
A. 3Tt F 65% IF & WY TRAT ITRT AT AR
B. 3nnft & =AAH 50% 3R F WY TAF-G{ET HaeT Scdor H
A =fEw
C. 3l F FTER F LraH 65% IF HIWT 9o A gw A

DTl g 1 B 2018 A 23 ad A ww iR 30 ad &
e ¢ g =g

snalt & FnTer A, S s wh AeeE # 9u Far § e

. 3N (A) ¥, TFg a8 50% 3% raEar SR §, O A
a1 faer, st & v wefdia fram o weFar B

Il. 3RF (B) ¥, g 5/ Fdd 30wl & w7 F F4 =S a0
FAGH 2 T & ewE B, A A ;= g, st afaf
wefSa fFa =1 g &)

A o nedt F Fau F el & 7 ¥ SWed AgE 3 eaf

& Wedl & TF favawwr ¥ ik R 3™ FlEE F= [ow W ey

& TEF & yRfeT FT o 38w R

AT T F TH HiFH (FFAwe shFTT) oot F3 & wa

gaa-%@m(mgm)a:mﬁm%mmmvﬁ

55% 3 T HFAr (ENRafn) euEs & 75% e 9 A

3HA TH 9haT H 65% 3IF HR WETERR HA 70% 3w W B

Ans J 1.
Ig AR e, 93 F ®ete R e d
X 2 3sreft v oTEe few S %I
X 3.
IT A T, st IR B w5 e S B
X4+ wswedt @ = A7 R e 2
Q.3 Inacode langnage, WORK ' is written as 'X@SL' and ‘TIME' is written as ‘UINE'. How will 'SALARY" be written?
Ans s Question ID : 1860452006
X 1. TAMASY Status : Answered
o 2. TAMASZ Chosen Option : 2
X 3 TAMBSZ
X 4 TBMBSZ
Q_4 Eight &iends P Q, R, S, T. U, V and W are sitting around a circular table. U is on the immediate right of @. V is the

neighbour of T. R is between T and U. W is on the imniediate left of P but is not the neighbour of T or S. What is the
position of S?

Ans X 1. Between Q and U

Question ID : 1860452001
Status : Answered
Chosen Option : 2
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' 2. On the immediate left of Q

X 3. On the immediate left of P
X 4. Second to the right of U

Q.5 Ry T W T A, 5 @ F qATE w7 F a9 @, 3R Ao § & aiw v #e @ ey
TEEE W W FGA ) HFHOT SRR R Question ID : 1860452002
U Status : Answered
i sfErh weE § oo BT = Chosen Option : 1
Torea:

I T TEE st §)
Il o waE afEd )

M e TSRS | HFETOT HAT B
X 2.
s | 3l s |, 3 & s = 2
X 3 Faer fFsH || HFEOr Fa B

X a.
F @ sy | 3R 7 & ey || HFEr S 2

Q_s The equal number of houses on both sides of the street are numbered 1. 2. 3, 4...up one side, then back down the other

side. If house number nine (9) is opposite house nuniber 24. then how many houses are there on the street? Question ID: 1860452004
Ans X' 1. 34 Status : Answered
: Chosen Option :2
X2 30 :

t

Va3
X 4. 3:

afes

Q.7
Question ID : 1860452008

Status : Answered
Chosen Option : 1
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w%q—v@zﬁﬁ,wmﬁwﬁgﬁa%m
=TT TFa] T §

A. Tt F FATH 65% N F WY CHAT 3Ry A Afew

B. 3t A AR 50% I F WY IIF-99T Scvor 3@eT H
grer anfew

C.3nft & IR # AR 65% I HTRT Ied A go &

D.3nwdt & amg 1 fHdww 2018 & 23 a9 ¥ #m AR 30 a¥ &
HiO @l @ =fg

el & AW F A e v A B @ R § e

I IR (A) %, g 77 50% 2% I SN ¢, & e
s, sdf ¥ e weita P o1 T B

Il 3RET (B) &, fFg 37 Fdwd somd & w9 & & & =
FH ® B2 AT F I &, o TS F T, st wRfY @
weia R = wear B

M v T F T F T § 72 ¥ IWES Awest AR et

F He F zwa oo w3 R 3R FEg Fv B & A

& 7§ I F HANEFT Fo o q& AT R

wRe W 76% o & Wy oHAIT 2| 9% FHT 2016 A How =ven &
N F tF FIED HOE & §9 & FF F QT &) 38} 999 THE
& 72% 3w 3 @R & 70% FHF 9red Y §| 3WHE T

14 39789 1993 F

Ans 1 sereft = T BRam sar B

X 2.
Tg FH TIA, T TR 77 wefite e s 2

X 3yt w7 Tam T eI S R

X 4.
g FHer AR, o8t o wefis o s R

Q.8 1y a class test of 45 students. one student is ranked 259, What is his rank from the bottom?

Ans 1. 2st
X 2 2sth

Question ID : 1860452005
Status : Answered
Chosen Option : 1

oA,

KS. 20th
x4. ~~nd

L e

Q.9 Select the option that is related to the third term in the same way as the second term is related to the first tesm
D, G

Ans X' 1. 343

Question ID : 1860451998
Status : Answered
Chosen Option : 4

X 2 196
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X 3 729
v o512

Q.10 From the given alternatives select the word which CANNOT be formed using the letiers of the given word.

Question ID : 1860452003
e & Status : Answered
us :
Ans 1.
x RECEIPT Chosen Option : 3
X 2. PRECEPT
+ 3. CREATOR
X 4. APPEAR
Q.11 Select the number pair which is different from the other three responses. .
Question ID : 1860452007
Ans X 1. 19, 132 Status : Answered
x 2. 39272 Chosen Option : 4
X3 31,216
W 4 23, 161
Q.12 iy den e # W el aw gt § S @ velle ¥ gia e o e s s
S TS vF TF wEd 7 Question ID : 1860452000
487689569657846955886779 Status : Answered
Ans x 1. TR Chosen Option : 4
X2 2
X3 3=
v TR
Section : Circuit Analysis
Q.1 cCalculate cun‘emzlnin the following circuit using super position theorem. Question ID : 1860452033
l._,.iﬁ,_@:ﬁsz Status : Answered
BV ? ik %_ o Chosen Option :1
Ans  of 1. 375 mA
X 2. 200 mA
X 3 150 mA
X 4100 mA
2 A23¢V lamp israted te pass a current of 0.24 A. Calculate its power eutput. If a second similar lamp is connected in
" parallel to the lamp, calculate the supply current required to give the same power output in each lamp. Question ID : 1860452027
Ans X'1. 024 A Status : Answered
x 2. 15A Chosen Option : 4
X319A
v 048 A
Q3
Question ID : 1860452016
Status : Answered

Chosen Option

2
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The value of voltages V; and V7 for the circuit skown below is:
{Use yjodal Analysis)

Node Node

L

Ans X1 7/10V, 3TV
V2 103V, 73V
X3 310V 37V
Ka 1/7V.3/4V
Q.4 Iftwo capacitors hving capacitaices of i and 1 G respectively ave coanected i seies acioss 2 200 V supply, fisd

the potential difference acress each capacitor Question ID : 1860452032
Ans x 1. SOV, 100V Status : Answered
: 5 Chosen Option : 2
W2 13333V. 66,66V
X3 200V, 100V
X 4 100V, 200 V
Q.5 A heater takes a current of 7 A from a 230 V source for 12 h. Calculate the energy consumed (in KWh).
Ans Question ID : 1860452028
. 2,76 KW
x - 2,76 kWh Status : Answered
X 2. 161 kwh Chosen Option : 4
X 3 38.64 kWh
V4 19.32 kWh
Q.6 For the network junction shown in the figure. caleulate the current I3, given thatlj =3 A. h=4Aad 4 =2 A
Question ID : 1860452026
PR Status : Answered
S T Chosen Option : 1
Ans J 1 3 AA
K244
X3 2A
X4 6A
Q.7 The value of R, for which the maximum power transferred across AB of the circuit shown in the figure below is:
Question ID : 1860452018
Status : Answered
Chosen Option : 3

Ans

X 1.

)
w

o8 iew
I
I

L
1
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W3
- 3Q

X 4

238 €

Q8 Fer the circuit shown in the figure, the value of current *I' is .

Ans 41
X2
X3
X4

- j AA
N 2 ‘A
e 3 ‘A
. Zero

Question ID : 1860452019
Status : Answered
Chosen Option : 1

Q.9 For the figure shown below, the value of the supply voltage *V* is

=154
v

T w

L
R2=3 T v2

R3=8 T v3

Ans  oC 4
X2
V3
X4

12V
45V
195V
-3V

Question ID : 1860452010
Status : Answered
Chosen Option : 3

Q10 The value of currents in the network shown below is:

11 2
H+i2
1 ohm 18 obims 2 chmzs
10V 20v

- -2.85A.3.57A,072A

Question ID : 1860452015
Status : Answered
Chosen Option : 3
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X4 2A4A.6A

Q_11 A conductor of 0.5 mm diametes wire has a resistance of 400 €. Find the resistance of the same length of wire if it’s
diameter were doubled.

Ans X' 1. 150Q
X250
'3 100Q
X4 2000

Question ID : 1860452030
Status : Answered
Chosen Option : 3

Q1 2 Adresistance of 10 Q is connected in seties with two resisiances, each of 15 Q arzanged in parallel. What iesistance inust
be shunted across this paraliel combination se that the tetal current taken shall be 1.5 A with 20 V applied voltage?

Ans X 1.8Q
X220
X335Q
vieQ

Question ID : 1860452024
Status : Answered
Chosen Option : 3

Q.13 The vaiue of admittance parameter Y, for the two-port netwerk shewn in the figure is:

11 R=200 I
- 3
- E—
£l Res0 R=1002 €2

Ans o 1. .0.05 mho
X 2. 0.1 mho
X 3. 0.2 mho
X 40,05 mho

Question ID : 1860452020
Status : Answered
Chosen Option : 1

Q14 For the circuit shown in the figure, the value of voltage v(t) is:

R=10 R=102
ey g
+ LIH

Ane W1 e 4 pebt
X 2. qat | bt
X 3. eat _ obe

X 4 gedt_ pebt

Question ID : 1860452022
Status : Answered
Chosen Option : 1

Q.15 Fer the network shewn in the figure, calculate the effective resistance and the supply current.

Question ID : 1860452025
Status : Answered
Chosen Option : 1
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Ans f1.1230,976 A
X21230,488 A
X3 137Q,488 A
X4 680.976 A

Q.16 For the circuit shown in the figure, the value of voltage Vagis .

{11

R=50 S0V
R=100
R=50
Ans X1 40V
X225V
X310V

Va6V

Question ID : 1860452021
Status : Answered
Chosen Option : 4

Q_1 7 A voltage divider is to give an output voltage of 18 V from an input voltage of 30 V as shown in the figure. Given
R;=100 Q. The value of resistance R 1s:

3

Ans X' 1. 150 Q
W2 2000
X3 100 Q
X 4.300Q

Question ID : 1860452011
Status : Answered
Chosen Option : 2

Q18 Find v, in the follewing circnit using super position theorem.

i 542

2

Question ID : 1860452031
Status : Answered
Chosen Option : 3

Q.19

Question ID : 1860452014
Status : Answered
Chosen Option : 3
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Fer the network shown in figure, the value of supply current and source emf is:

Ans X 1. 454, 38V
X2 15A27V
W3 45A.87V
X4 15A 36V
Q.20 For the network shown in the figure, calculate the power developed by resistor Ry and R; respectively.
—_—— Question ID : 1860452029
b 1 Status : Answered
H Chosen Option : 4

Ans X' 1. 160 W, 80 W
X2 S0W, 160 W
X3 J40W 72 W
v T2W 40 W

Q.21 w F=w & & F=aex € 57 % T F ¥ F U FAT F OF OF W I WY I 70 ) 5@

¥ 700 m T &, FF g ON F A W FAT a7 F1 WET 100 © T W § k7 Question ID : 1860452013

T S &5 Y A ¥ Status : Not Answered
Ans F s s

X 11,100 © Chosen Option :

X21,134
X3 1,200 @
v 41,143 Q

Qz A coil of resistance 20 Q and inductance 10 wH is in series with a capacitance and is supplied with a constant voltage.

variable frequency source. The maximum current is 2 A at | 868 Hz. The Q-factor of the circuitis ____ Question ID : 1860452023
Ans 9% 1. 318 Status : Answered
J 2. 303 Chosen Option : 2

X3 314
X4 314

Q.23 The value of porential difference across the 2 Q resistor for the nerwork shown below is:

Question ID : 1860452017
= Status : Answered
Chosen Option : 4
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Ans x1_ 28V
X2 leav
X352V

w21V

Q.24 For the circuit shown in the figure below, the value of currents I and I» is:

V4 15A05A

Question ID : 1860452012
Status : Answered
Chosen Option : 4

Section : Machines

Q.1 A transformer has 400 W as iron loss at full load. The iren loss at half full load will be .

Ans

v
X 2.

400 W
800 W

Question ID
Status
Chosen Option

11860452044
:Answered
1

X3 100 W
X 4 200W

Q.2 A two-pole alternator is running at 1,508 rpm. Tts angular velocity will be .
Ans X 1. 192 rad’s

V2. |57 rad/s

X 3. 212 radés

X 4 118 rad/s

Question ID : 1860452053
Status : Answered
Chosen Option : 2

Q3 Tn a split-phase induction moror, the two stator windings .

Question ID : 1860452052
Ans X 1. have equal R/XJ ratio Status : Answered
Y Chosen Option : 3
X 2. draw only the in-phase currents
W 3. are mutually displaced by 90° electrically
X 4. draw equal currents
Q4 Core lamination in a transformer decreases "

Ans o 1. eddy current loss

X 2. hysteresis loss

Question ID : 1860452041
Status : Answered
Chosen Option : 1
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X 3. copper loss

X 4. leakage reactance

Q's A three-phase induction motor is running at 4% slip. If the input te the rotor is 1,800 W then the

ical power

developed by the motor willbe . Question ID : 1860452048
Ans 1 060 W Status : Answered
X 2. 9.600 W Chosen Option : 1
X3 96W
K4 096W
Q.6 - 3 ine i -otar
The armature of a DC machine is placed on the rotor to . Question ID : 1860452034
Ans x 1. reduce losses Status : Answered
x e - Chosen Option : 3
. §av
W 3. suppert commutation
X 4. decrease armature reaction
Q.7 ° 1 { . v P 4
A washing machine generally employs a motor. Question ID : 1860452051
Ans X 1. shaded pole Status : Answered
) ; Chosen Option : 3
o 2. resistance split phase
X 3. single-phase series
X 4. hysteresis
Q8 An open circuit test on a transformer gives . Question ID : 1860452040
Ans  C 1. friction losses Status : Answered
) Chosen Option : 2
' 2. iron losses
X 3. total losses
X 4. copper losses
Q.9 Ina6-pole DC machine, 90 mechanical degrees correspends to how many electrical degrees?
res I % Question ID : 1860452057
1. 270 Status : Answered
X 2 180 Chosen Option : 1
X3 30
X 4 45
Q10 A motoy runs at the highest speed when the load is removed. Question ID : 1860452037
Ans X 1. cumulatively compound Status : Answered
i Chosen Option : 2
v 2 series
X 3. shunt
X 4. differentially compound
Q11 P . - ? i 2 g
The magnetic flux path in a transformer must have . Question ID : 1860452054
Ans Status : Answered

X 1. high resistance
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X 2 |ow resistance
X 3. high reluctance

W 4 low reluctance

Chosen Option :

Q12 7 eakage flux in a transformer : BT DsitEiA52048
Ans 5 1. helps in the transfer of energy S AATSEEE
Chosen Option : 3
X 2. produces mutually-induced emf
v
is minimised by interleaving the primary and secondary windings
X 4. is negligible at full load
Q.13 Theprimarvofa  should never be energised when its secondary is open circuited.
A Question ID : 1860452043
ns X 1. potential transformer S Rriswered
Ch Option :2
+ 2. current transforiner B
X 3. autotransformer
X 4. power transformer
Q.14 For a simplex wave wound generator, emf generated path is given by : )
> 4 Question ID : 1860452056
® : Flux’ pole in Weber Status : Answered
Z : Total number of armature conductors Chosen Option : 2
P : Number of generator poles
N : Armature rotation in revolution per minute (rpm)
Ans X 1. (§PN)/120
W 2. (6ZPN)/120
X 3. (6ZPN)/180
X 4. (6ZN)/60
Q.15 ree-pha g ‘otor 'S ar ; Ca @ ;
Three-phase wound rotor motors are commonly called as motors Question ID : 1860452047
Ans ' =5 1. Synchronous Status : Answered
. Chosen Option : 3
X 2. Commutator
' 3. Slip ring
X 4 Series
Q.16 i ine ¢ ad is 2 v af :
Running the machine at no load is NOT recommended for a‘an Question ID : 1860452038
Ans X 1. induction motor Status : Answered
. h ion : 4
X 2. DC shunt motor CHESAROPEE
X 3. synchronous motor
v 4. DC series motor
Q17 i , ingle- v e
__is a type of single-phase motor which has the lowest speed. Question ID : 1860452050
Ans X 1. Hysteresis Status : Answered
Chosen Option : 3

X 2. Universal
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« 3. Shaded pole
X 4. Repulsion

Q18 A capacitor-start motor has a . T ———
Ans x . high sta Lﬁng torque Status : Answered
Chosen Option : 4
X 2. low efficiency
X 3. low power factor
« 4 high power factor
Q.19 The open-ciccuit characteristic of a DC generator is also calledas  characteristics.
. Question ID : 1860452035
ns g .
X 1. internal Status : Answered
K 2. performa nce Chosen Option : 1
X 3. external
+ 4. no load saturation
Q.20 The direction of rotation of field in a three-phase induction motor depends onthe .
A Question ID : 1860452045
ns T
x 1. Sl]ppl} \oltage Status : Answered
- Ch Option : 4
X 2. number of poles i
X 3. supply frequency
+ 4. phase sequence of supply voltage
Q.21 : A = A
The function of dummy coils in DC machines is to Question ID : 1860452036
Ans X 1. improve commutation Status : Answered
) Chosen Option : 3
X 2. reduce machine cost
« 3. mechanically balance the armature
X 4. lncrease efficiency
Q.22 Te obtain greater efficiency, the slip of an induction moter should be : ]
= = Question ID : 1860452046
Ans  of 1. Jow Status : Answered
X 2. very high Chosen Option : 1
X 3. high
X4l
Q.23 The current srawn by a 220 ¥V DC motor of armature resistance 0.5 Q and back emf 180 Vis
Hins N Question ID : 1860452039
x 1. 9.8A Status : Answered
( 2. 300 A Chosen Option : 2
X384
X4 18A
Q.24 The maguetic flux density on the surface of an iron face is 1.5 T. which is the typical satuation level valve of
ferromagnetic material. Find the force density on the iron face. Question ID : 1860452055
Ans Status : Not Answered
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X 1 0.59% 106 N/m?
X 20,89 % 105 N/m
X 3. 0.50% 105 N/m

v 4 0,89 % 105 N/m?

Chosen Option

Section : Electronics

Q.1 How many diodes are used 1o construct half wave, full wave and bridge rectifier cireuits, respectively?

Ans . Question ID : 1860452073
x s ‘-'1*4 Status : Answered
X2 241 Chosen Option : 4
X3 412
val24
Q.2 [Ifthe resolution of a digital-to-analogue converter is approximately 0.4% of its full scale range, thenitisaan -
Ans 3 Question ID : 1860452064
X 1. 16-bit converter honi
X 2. 10-bit converter Chosen Option : 3
' 3. 8-bit converter
X 4. 12-bit converter
Q3 The product of the two binary numbers 011 and 110 is: Question ID : 1860452066
Ans X' 1. 01110 Status : Answered
Chosen Option : 3
X2 11001
v 310010
X 4 11100
Q.4 s 1 -1 1 T ] £ 1 -
Among the follewing, which is a fixed frequency oscillator? Question ID : 1860452063
Ans ' 1. Crystal oscillator Status : Answered
; . P Chosen Option : 1
X 2. Phase-shift oscillator
X 3. Hartley oscillator
X 4. Colpitt's oscillator
Q.5 The circuit which produces the best stabilisation of an operating point is b .
. Question ID : 1860452060
Ans X 1. base bias Status : Answered
X 2. collector feedback SiicseniOtan 54
X 3. emitter bias
' 4 voltage divider
Q.6 The output and input voltages of an emitter-follower have a phase difference of .
" Question ID : 1860452062
ns “ 1.0° Status : Answered
X 2. 270° Chosen Option : 1
X 3. 90°

X 4. 180°
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Q7 A+AB gets simplified to:

Question ID : 1860452068
Ans X 1. AR Status : Answered
s Chosen Option : 4
X2B
X3 A+B
Vi
Q_s In a certain transistor. the emitter current is 1.04 times the collector cuirent. If the emitter current is 12 mA. calculate the
Bl Question ID : 1860452071
Ans  F 1. 462 pA Status : Answered
x 2. 11.538 mA Chosen Option : 1
X 3. 462 mA
X 4 11.538 pA
Q's < 2 0 ey . N i , atra 1 H W
State the respective ripple factor and efficiency of a full wave rectifier Question ID : 1860452072
Ans 3 1. 0.40, 80% Status : Answered
x 2. 1.21. 40.1 % Chosen Option : 4
X 3 0.81, 48%
W4 048,81.2%
Q.10 t : v C i - .
State the octal equivalent of hexa decimal number (B34);4. Question ID : 1860452074
Ans 5%, (6454)8 Status : Answered
o Chosen Option : 3
X 2. (4564)g
W 3. (5464)
X 4. (5645)
Q.11 - A 3
Zener diodes are used as a Question ID : 1860452059
Ans o 1. voltage regulators Slausr/Anaagrad
Chosen Option : 1
X 2. amplifiers
X 3. oscillators
X 4 rectifiers
Q.12 y » i - transistor A1 Dkl _off region.
State the cerrect condition for transistor to operate in cut-off region Question ID : 1860452070
Ans x 1 Emitter base junction: forward bias Status : Answered
~ Collector base junction: forward bias Chosen Option : 4

X 2 Emitter base junction: reverse bias
" Collector base junction: forward bias

X a Emiitter base junction: forward bias
* Collector base junction: reverse bias

v Emitter base junction: reverse bias
- Collector base junction: reverse bias

Q.13
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Voltage regulation is given by: Qugstian |D1880452025
Status : Answered
= Chosen Option : 2
V1 Voltage at no load P
Vg : Voltage at full load
Ans X1 ((Var +VELV(VNL)) *100%
X 2 (Vxr - VELV(VNL)) *100%
v 3 (VL - VELAVEL)) *100%
X 4 ((VNL + VELY(VEL)) *100%
Q14 e carriers whi - ,
The charge carriers which have the greatest mobility are the Question ID : 1860452058
Ans  f 1. electrons Status : Answered
x 2 p ositive ions Chosen Option : 1
X 3. holes
X 4. negative iens
Q.15 ; ’ > .
Ans X 1. _oo Status : Answered
x 2 | Chosen Option : 4
X3 0
( 4. oo
Q.16 State the respective decimal equivalent and hexa decimal equivalent of (65)g. .
Question ID : 1860452069
s J 1. 53.- 35 Status : Answered
K" 2. 46. 65 Chosen Option : 1
X 3 65,46
X 4 35,53
Q.17 The lower and upper cut-off frequencies ate also called as frequencies. .
Question ID : 1860452061
Ans X 1. half resonant Status : Answered
‘/ 2. half power Chosen Option : 4
X 3. resonant
X 4. side band
Q18 The binary equivalent of decimal 22 is: Guestion |k AgE 5267
Ans J 1. 10110 Status : Answered
x 2. 10001 Chosen Option : 1
X3 11010
Xa 11111
Section : Measurement
Q1 Electrostatic-type instruments are primarily used as: [ Question ID : 1860452086
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Ans x 1. ‘Wﬁﬁllletefs Status : Answered
Chosen Option : 3
X 2. ohmmeters
v 3. voluneters
X 4. ammeters
Q2 Thtegrating meters are used for the measurement of: Question ID : 1860452079
Ans X 1. current Status : Answered
Chosen Option : 3
X 2. phase
o 3. energy
X 4. voltage
Q.3 To ensure safety, what should be the resistance of the earthing electrode? )
Question ID : 1860452083
Ans X 1. high Status : Answered
Chosen Option : 2
W 2 low
X 3. safety does not depend on resistance
X 4 medium
Q4 e § e ; " g O )
Al electrodynamometer type of instruments find its major use as: Question ID : 1860452082
Ans 'I 1. Status : Answered
both, a standard instrument and a transfer instrument Chosen Option : 1
X 2. atransfer instrument only
X 3. a standard instrument only
X 4. atype of indicater instuument
Q5 4 7. . .
A 741 Op-Amp has: Question ID : 1860452084
Ans J 1. 8 pillS Status : Answered
Chosen Option : 1
X 2. 9 pins
X 3. 7pins
X 4. 6 pins
Q6 The number of basic SI units is: Question ID : 1860452081
Ans X' 1. g Status : Answered
x 2 3 Chosen Option : 4
X3 4
Va7
Q.7 The material of wires used for making standard resistances is usually: Question ID : 1860452085
Loty J 1. magnan'm Status : Answered

X 2. phosphor bronze

X 3. pichrome

Chosen Option

1
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X 4. copper

Q8 Ao : .
Megger is essentially a: Question ID : 1860452076
Ans x 1. dynamometer Status : Answered
Chosen Option : 2
' 2. mega-olunmeter
X 3. series-type chmineter
X 4. shunt-type ohmmeter
Q9 Air friction damping is used in a/an instrument. T ——
Ans X 1. hot wire Status : Answered
. . Chosen Option : 3
X 2 induction
' 3. moving iron
X 4. moving coil
Q19 The two-part tariff is used for __ consumers. Qbestion (D : (860452087
Ans x 1. domestic Status : Answered
. Chosen Option : 1
X 2. commercial
+ 3. industrial
X 4. agricultural
Q.11 A - : .
The bridge is frequency sensitive. Question ID : 1860452078
Ans I 1. Wien Status : Answered
Chosen Option : 1
X 2. Anderson
X 3. Wheatstone
X 4 Maxwell
— 4
Q.12 Which bridge i b . Y - o
Which bridge is used to measure the inductance of a high Q inductor Question ID : 1860452077
Ans X 1. Anderson Status : Answered
J 2 Hay Chosen Option : 2
X 3. Maxwell
X 4 Wien
Section : Control System
Q.1 Which of the following is cotrect for over-damped and under-damped system. respectively?
Ans Question ID : 1860452093
s ] Status : Answered
4 2. &£ »] D=t Chosen Option : 2
et B 1
X3ix1. =0
X4. 0’& <1$‘»_’: =—1
Q.2 Any physical system that does NOT automatically correct for vagiation in its output is a/an:
[ Question ID : 1860452088
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« 1. open-loop system
X 2. closed-loop system
X 3. stable system

X 4. unstable system

Status

Chosen Option :

:Answered

1

Q3 1l o R ) :
Determine the stability of svsten: Question ID : 1860452092
Status : Answered
53+SZ+S+ 4 Chosen Option : 3
Ans o 1. Absolutely stable
X 2. Critically stable
' 3. Unstable
X 4. Marginally stable
Q4 7y phase shift of a second-order system with a transfer function 1/ is: Question ID : 1860452090
Ans  oJF 1 180° Status : Answered
X 2. 90° Chosen Option : 4
X3 —90°
X4 —180°
Q.5 The frequency at which the phase angle is 130° is called the frequency. .
Question ID : 1860452089
Ans X 1. break Status : Answered
x 2. critical Chosen Option :3
o 3. phase cross-over
X 4 cut-off
Qs Determine transfer function if the impulse response is et Question ID : 1860452091
Ans W 1 1i(sH2) Status : Answered
gl Chosen Option : 1
X2 1/(s—2)
e
X 3 1/(s+2)*
ey
X4 li(s—2)
Section : Material system
ai is a material that is used to make cable sheaths. Cuostion |D - 1BE0452003
Ans X' 1. Aluminium Status : Answered
Chosen Option : 3
X 2. Copper
v 3. Lead
X 4. Cast iron
Q.2 What is the dinadi cofic e ora e?
What is the coordination numiber of a bodv-centred cubic structure Question ID : 1860452095
Ans Status : Answered
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W8

Chosen Option : 3
X2 4
X3 6
X4 12
Q.3 Which of the following is NOT an example of a semiconductor material? ]
Question ID : 1860452098
Ans X 1. silicon Status : Answered
¢ 2 Copper Chosen Option : 2
X 3. Germanium
X 4. Arsenic
Q4 Wh g isan exd o o
Which of the following is an example of a monoclinic system? Question ID : 1860452096
Ans X 1. SiO» Status : Answered
Chosen Option : 4
X 2. CaF»
W 3 FeS®y
X 4. Nacl
Q5 wwhat | » atormi d : J G ivelv?
What is the atomic packing factor fer BCC and FCC, respectively? Question ID : 1860452097
Ans X 1. 0.52,0.78 Status : Answered
X 2. 0.74.0.68 Chosen Option : 4
o o oy Ve
X3 0.52.0.74
W ¢ 068,074
Q6 State the electronic configuration of Argon. Question ID : 1860452009
Ans 2 PR R Status : Answered
1. [g¢2p=2
x s 2P 3s 3p Chosen Option : 3
o
X 2. [522522563p23p0
= :
v Is“3522p63523p6
2 -,
X 4. [522p?2p6352350
Section : Rest
Q_1 The maximum firing angle that can be obtained by a pure resistive uigger circuit used in phase control circuit is:
Ans x % Question ID : 1860452102
1. 180 Status : Answered
( 2. 9p° Chosen Option : 1
X3 450
X4 1350
Q.2 ; T g
Buchholz relay is a‘an: Question ID : 1860452101
Ans X 1. oil temperature-actuated relay DS i
Chosen Option : 2

« 2. gas-actuated relay




X 3. current-actuated relay

X 4. oil-actuated relay

Q3 HRC fuses provide the best protection against: Question ID : 1860452100
Ans x 1. spark'mg Status : Answered
' Chosen Option : 2
v 2. short circuit
X 3. fire
X 4. lightning
Qs combined together are called stray losses. Question 1D« 1860452404
Ans 3¢ 1. Frictional loss and copper loss SIS ndored
Chosen Option : 3
X 2. Field copper loss and iron loss
+ 3. Tron and mechanical losses
X 4. Copper and iron losses
Q.5 Two ceils in differential connection have self-iaductance of 2 mH and 4 mH and a mutual inductance of 0.15 mH. The
uvelenlad i ecog bRt lig) Question ID : 1860452103
Ans x 1. 59 mH Status : Answered
x 2. 6.5 mH Chosen Option : 3
'3 5.7 mH
X4 7mH
Q.6 When the gain margin is positive and phase margin is negative, the system is: .
Question ID : 1860452105
Ans X 1. unstable Status : Answered
Chosen Option : 1

X 2. highly stable
X 3. oscillatory
v 4. stable
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